Elevating Actuator, Sensors and Seat Support Tray
For Elevating Seat

(18)

«\
L

Front View

\
\

X VRN _/J A= I ENANERY 7
N/ %A ) i 7\ <

. / <\
SN \ 7 /
(o] \\O /// /ﬂ/ /ﬂf/ [SAN / @\\ ﬁkr e N \/M\N AN \\ / \\
A\ AN
\
A\
\
V4 AN
7

/
\ { ~
\//, 0% / N\ \ =/ / X ,,M/ 0 Y A

Rear Assembled View




Elevating Actuator, Sensors and Seat Support Tray

For Elevating Seat

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly
1 7930323-NLA | NLA - Package, Locknut (1/4-20) 25 6
2 1108436-NLA | NLA - Bracket, Actuator Support, Black 1 1
3 1109334-NLA | NLA - Actuator Motor Assembly, Elevate 1 1
4 1108435-NLA | NLA - Bracket, Battery Strap, Black 1 1
5 7930326-NLA | NLA - Package, Screw, Hex Head (1/4-20 x 3/4") 25 8
6 1105715-NLA | NLA - Sensor, Proximity Switch 1 1
7 1005889 NLA - Locknut (#4-40) 1 4
8 1008525-NLA | NLA - Washer, Internal Tooth Lock (#4-40) 1 4
9 1011011-NLA | NLA - Washer, Plain (1/8 x 5/16 x 1/32") 1 6
10 7930318-NLA | NLA - Package, Screw, Phillips Pan Head (#4-40 x 25 2
1/2")
11 A 1108774-NLA | NLA - Hardware, Proximity Switch Sensor and 1 1
Mounting
12 1088898-NLA | NLA - Screw, Hex Head w/ Patch (1/4-20 x 1-3/4") 1 4
13 1106520-NLA | NLA - Tray, Seat Support 1 1
14 1106518-NLA | NLA - Bracket, Actuator Switch Sensor, Black 1 1
15 1024001 Sensor, Actuator Switch 1 1
16 1027704-NLA | NLA - Screw, Phillips Pan Head (#4-40 x 3/8") 1 4
17 B 1108773-NLA | NLA - Hardware, Actuator Switch Sensor and 1 1
Mounting
18 1108768-NLA | NLA - Elevating Actuator, Sensors and Seat 1 1
Support Tray Assembly
NOTE: A - Includes items 6-10

B - Includes items 7-9, 14 and 16




